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1. # & F ] &4 & 744 B %8 (Boundary-Value Problem) :
2
x%+%+%&y=0 v l<x<a s y(1)=0 > ye)=0
(1) RE & o8 AP 2 Self-Adjoint Form - [ 314 : 3 4]
(2) K phid R4E R 28 &9 B & 15 (Bigenvalue) L B A & #¢(Eigenfunction) - [ ¢} 4 10 4]
(3) A b A M2 B A & BT 20 B AT A E K M ] 4% X (Orthogonality Relation)?
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u(0, =0 u(x, )=0> >0
u(x, 0)=0 0<x<rmw
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REK# F(s) = s(s+3)2z, Inverse Laplace Transform : [ 34 © 10 4]
RRmpusFEA: ¥y +y +2y=Inx (35 10 5]

WA sy Cx cosx)g—i — xy sinx + 2y cosx = 0- [:t4 ¢ 10 4]
mEmu s TR X2y +xy +x2y=0 [#5 110 45])
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